
Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier par des puissances de dix ( nombre
manquant )

6, 341 × ________ = 63.41 6, 572 × ________ = 657.2

5, 528 × ________ = 5528 2, 91 × ________ = 291

1, 427 × ________ = 142.7 4, 396 × ________ = 439.6

2, 437 × ________ = 243.7 5, 427 × ________ = 54.27

1, 334 × ________ = 1334 8, 029 × ________ = 80.29

3, 015 × ________ = 30.15 3, 056 × ________ = 3056

9, 801 × ________ = 98.01 6, 985 × ________ = 698.5

1, 451 × ________ = 145.1 9, 94 × ________ = 99.4

6, 275 × ________ = 62.75 3, 196 × ________ = 319.6

1, 473 × ________ = 147.3 6, 656 × ________ = 66.56
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Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier par des puissances de dix ( nombre
manquant )

6, 341 × 10 = 63.41 6, 572 × 100 = 657.2

5, 528 × 1000 = 5528 2, 91 × 100 = 291

1, 427 × 100 = 142.7 4, 396 × 100 = 439.6

2, 437 × 100 = 243.7 5, 427 × 10 = 54.27

1, 334 × 1000 = 1334 8, 029 × 10 = 80.29

3, 015 × 10 = 30.15 3, 056 × 1000 = 3056

9, 801 × 10 = 98.01 6, 985 × 100 = 698.5

1, 451 × 100 = 145.1 9, 94 × 10 = 99.4

6, 275 × 10 = 62.75 3, 196 × 100 = 319.6

1, 473 × 100 = 147.3 6, 656 × 10 = 66.56
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